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Instructions for Candidates

1. Write your Roll No. on the top immédiatcly,on receipt
of this question paper,

2. Answer any FIVE questions.
3. ANl questions carry equal marks.

4.  Answers may be written either in English or Hindi;
but the same mcdlum Should be uscd throughout the
paper.,
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(a) What is mcant by price discrimination by a

monopolist?

(b) Using suitable diagrarﬁ explain the condition of

natural monopoly. o i T (87)

(a1 ) mfmﬂmaﬂmﬁ%a%wamﬁ%?
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(a) Using prOper d1a1,rams, explam all short run
equxllbrlum COl‘ldlthﬂS of a ﬁrm under monopohstlc |

competition,

(b) Is the use of product differentiation and advertising

‘?
by firms justified to achieve market power’

Discuss. (10 5)
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3. (a) Explam the equlhbrlum price, output level and
- _profits of a firm under monopoly in the long run.
Use suitable dlagrams

(b) Average Revenue (AR) Margmal Revenue (MR),
_Average Cost. (AC) and Marginal Cost (MC) of a
. flrm under monopoly are glven below
AR = 140 —2 Q
"MR =140 - 4 Q
AC =5Q +4/Q
MC =10 Q

- At equilibrium level of output, calculate
(i) output
(i) prlce (prlce = AR) and

(ul) the amo»unt of total profltsv (9,_6) |
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AR = 140 - 2 Q _
MR=140-40Q ©
AC='5Q + 4/ Q P
MC = 10Q
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- 4. (a) What are the main' features of public goods?

' (b) How can the government arrive at an optimal level
‘ of prov131on for publlc goods? RRREPO )
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5. (a). Explain various circumstances under which the

~market fails to allocate resources efficiently.

(b) Discuss the concepts of Imperfect information,

Adverse Seiection and Moral Hazard T (1.8)
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6. (a) How is the cquilibrium wage rate determined ina
competitive .firm W

variable factor of pro

hich uses labour as only
duction? Py

- (b) The f0110w1ng schedule shows the dlfferent
productlon quant1t165 of apples when different

workers are employcd

P.T.0.
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Units of labour  Total Product (T P, in kg.)
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| If apples are sold at Rs 100 pér' kg. and workers
are hired in-a’ competltlve labor market for Rs. 200

per worker how many workers should be hired?
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g g (a) Crltlcally examine the comparatwe co
| theory of mternatmnal trade

(b) Protection ,fr.om fre.e trade has Crits g wen a
demerits, Elaborate, i - as
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8. Write notes on any two of the following
(a) Efficiency of perfect competition,

(®) Pris’one‘r‘s Dilemma and behaviour of oligopoly
firms. ‘

(¢) Concept of supply curve under monopoly

ot _ o (7575)
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